Stipend Schedule			
Area	Stipend	# of Stipends	Budget Impact
Masters Degree	\$1,000	110	\$110,000
Dual Credit	\$2,500	6	15,000
Bilingual	\$4,000	42	\$168,000
GED	\$5,300	1	\$5,300
High School Critical Teaching Assignments			
Foreign Language	\$2,500	4	\$10,000
Science: Chemistry, Physics, Anatomy & Physiology	\$3,500	5	\$17,500
Math: Pre-Cal, Calculus	\$3,500	2	\$7,000
STAAR EOC: Alg. 1, English 1	\$3,500	6	\$20,000
Paint & Body Instructor	\$7,500	1	\$7,500
Self-Contained SpEd Teacher	\$2,500	27	\$67,500
SpEd Supervision	\$3,000	6	\$18,000
SpEd Bilingual	\$4,000	4	\$16,000
Certificate of Clinical Competence	\$3,500	4	\$14,000
Lead Diagnostician	\$3,000	1	\$3,000
Critical Retention	\$1,000		

**Elgibility:** To be elgible for the certification-based and critical needs stipends, the teacher of record must be certified in the assigned content area and assigned to the teaching field for a minimum of 50% of the academic day.

Additional Academic Stipends for Certified Staff				
Counselor-Lead	\$1,000	1	\$1,000	
Grade Level Team Lead (Secondary)	\$750	14	\$1,500	
Grade Level Team Lead (Elementary)	\$500	38	\$19,000	
District Textbook Coordinator (IMA)	\$3,000	1	\$3,000	
Robotics Secondary Coordinator	\$500	2	\$1,000	
Robotics Elementary Coordinator	\$500	5	\$2,500	
Robotics Secondary Coach	\$400	2	\$800	
Robotics Elementary Coach	\$300	5	\$1,500	
Robotics District Coordinator	\$1,000	1	\$1,000	
Head Librarian	\$1,000	1	\$1,000	
Lead Nurse	\$2,000	1	\$2,000	
Campus Digital Specialist	\$1,000	7	\$7,000	
Summer School Principal	\$5,000	1	\$5,000	
Police				
Intermediate Peace Officer's Certification	\$1,000	0	\$0	
Advanced Peace Officer's Certification	\$2,000	1	\$2,000	
Bachelor Degree	\$1,000	0		
Master Peace Officer Certification	\$3,000	4	\$4,000	
TCOLE Advanced Certificate	\$2,000	1	\$10,000	
High School				
Ag Teacher 1	\$3,500	1	\$3,500	

Ag Teacher 2	\$3,500	1	\$3,500	
Ag Teacher 3 (Ag Mech)	\$3,500	1	\$3,500	
Ag Teacher 4	\$2,750	1	\$2,750	
Ag Teacher 5	\$2,750	1	\$2,750	
Ag Department Head	\$1,800	1	\$1,800	
Machining	\$2,500	1	\$2,500	
Cosmetology	\$3,000	1	\$3,000	
FBLA	\$2,000	1	\$2,000	
Health Science/HOSA/CNA	\$4,000	1	\$4,000	
Interact/Jr. Rotary	\$1,500	1	\$1,500	
Culinary Arts	\$2,000	1	\$2,000	
ROTC- Officer	\$3,000	1	\$3,000	
ROTC-Enlisted	\$2,000	1	\$2,000	
Pregnancy Related Services	\$1,500	1	\$1,500	
Academic Decathalon	\$1,500	1	\$1,500	
NHS Advisor	\$700	1	\$700	
Senior Class Sponsor	\$1,500	1	\$1,500	
Junior Class Sponsor	\$500	1	\$500	
Sophomore Class Sponsor	\$500	1	\$500	
Freshman Class Sponsor	\$500	1	\$500	
Student Council Advisor	\$1,500	1	\$1,500	
Lincoln Douglas Debate	\$500	1	\$500	
Yearbook	\$2,500	1	\$2,500	
Bass Team	\$2,000	1	\$2,000	
Sporting Clay Club	\$2,000	1	\$2,000	
Video Tech	\$2,000	1	\$2,000	
Junior High			•	
Ag Teacher	\$2,000	1	\$2,000	
Student Council Advisor	\$500	1	\$500	
NHS Advisor	\$500	1	\$500	
Theater	\$2,000	1	\$2,000	
Yearbook	\$500	1	\$500	
University Interscholastic League Stipends				
UIL Academics				
HS Coordinator	\$1,250	1	\$500	
Jr. High Coordinator	\$750	1	\$250	
Elementary Coordinator	\$750	5	\$1,250	
2-5 Coaches	\$500			
6-8 Coach	\$500		\$5,000	
High School Coach	\$500			
Band				
HS Band Director	\$4,000	1	\$4,000	
HS Assistant Band	\$2,000	2	\$4,000	

Percussion Director	\$2,000	1	\$2,000
MS Band Director	\$2,500	1	\$2,500
MS Assistant Band	\$1,500	1	\$1,500
6th Band Director	\$2,000	1	\$2,000
6th Assistant Band	\$2,000	1	\$2,000
Color Gaurd	\$2,000	2	\$4,000
Cheerleader			
Head Coach	\$4,000	1	\$4,000
Assistant Coach	\$2,500	1	\$2,500
MS Coach	\$2,000	1	\$2,000
MS Assistant	\$2,000	1	\$2,000
Choir			
Head	\$4,000	1	\$4,000
MS	\$2,000	1	\$2,000
6th	\$2,000	1	\$2,000
Drama			
Head	\$3,500	1	\$3,500
Assistant	\$2,500	1	\$2,500
Drill Team			
Head	\$5,000	1	\$5,000
MS	\$2,500	1	\$2,500
Yearbook			
Sponsor	\$500	1	\$500
А	thletic Stipends		
Football			
Offensive & Defensive Coordinators	\$9,000	2	\$18,000
Special Teams Coordinator	\$2,500	1	\$2,500
Assistant Coaches	\$6,300	9	\$56,700
MS HF/Athletic Coordinator	\$4,000	1	\$4,000
MS Coaches	\$3,100	5	\$2,000
Volleyball	•		•
Head	\$6,500	1	\$6,500
Assistants	\$3,200	3	\$9,600
MS Coaches	\$3,100	4	\$12,400
Basketball	•		•
Head	\$6,500	1	\$6,500
Assistants	\$3,200	4	\$12,800
MS Coaches	\$2,100	10	\$21,000
Baseball			
Head	\$6,500	1	\$6,500
Assistants	\$3,200	4	\$12,800
0 - 64 - 11			
Softball			

Assistants	\$3,200	2	\$6,400
Soccer			
Head	\$6,500	2	\$13,000
Assistants	\$3,200	3	\$9,600
MS Coaches	\$1,000	4	\$4,000
Track			_
Head	\$6,500	2	\$6,500
Assistants	\$3,200	6	\$19,200
MS Coaches	\$2,000	12	\$24,000
Tennis			_
Head Coach	\$6,500	1	\$6,500
Assistants	\$4,000	1	\$4,000
Power Lifting			_
Head	\$3,500	2	\$7,000
Assistant	\$2,000	1	\$2,000
Cross Country			
Head	\$3,500	2	\$7,000
MS Coaches	\$2,000	2	\$4,000
Additional Athletic Stipends			
Summer Workouts	\$16,000		25/hr
Video Coordinator	\$1,500	1	\$1,500
Equipment Coordinator	\$1,500	1	\$1,500
NCAA Boys/Girls Recruiting Corrdinator	\$3,000	1	\$3,000
Athletic Trainer	\$9,200	1	\$9,200
Strength Coach-Off Season & Summer	\$5,000	1	\$5,000
Assistant Athletic Trainer	\$4,500	1	\$4,500